N 2 0l & AF S E A A
200981 204 LBt
SA: 2AHAMD}
Hu: A 2 BAOYZMHIA 2E
CHel: BAMFNHIA KIS (9 @
SA - FH - S2(3) - NRAY - BES O] 4 o4 e HRE2
2249 M) 39,213,839 40,231,392 A1,017,553
2 11,174,952
| 15,784,239
£ 112,804
-3 12,141,844
I 2 BAYZMHIA 2E 37,725,169 38,724,777 999,608
= 10,900,952
9 15,014,739
2 112,804
S 11,696,674
SAHYAHIA W2 8,130,361 11,239,518 ~3,109, 157
= 5,741,394
= 3,030
5 2,385,937
EAAMH M L RY 9,400 46,120 ~36,720
202 o1t 7,000 7,000 0
01 =LHoidl 7,000 7,000 0
OS2HHE MHIANN J2EX 7,000
203 Y2EFH| 2,400 2,400 0
03 AlIBZXALEZY 2,400 2,400 0
OBAMARFT 2,400
SOHEEA S 0BAS(5S) 7,058,464 10,042,601 2,984,137
2 5,663,677
-3 1,394,787
403 XFXICHHI S XH20|® 7,058,464 10,042,601 A2,984,137
= 5,663,677
[ 1,394,787
01 RXIESHAE 2 X 7,058,464 10,042,601 N2,984,137
OsUHEASAHIANL X
8,453,250, 0002 *83. 5% 7,058,464
= 5,663,677
= 1,394,787
MO B HYXE MXSHYAEE 77,717 77,717 0
= 77,717
308 XHXIEHHISOIE 77,717 77,717 0




SN BAS MY
PN

HH: A s BAYBAHA 7S
Sl BABTHHIA HD (S92l ®el)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
308 XAXIEHXMSOIA = 77,717
01 AXSHHIABEZ 77,717 77,717 0
OMMNAEE)| ABRS U B2
97,146,000& *80% 77,717
= 77,717
S22 MI2oHNS 5,280 5,280 0
= 1,590
= 3,690
201 B9y 5,280 5,280 0
= 1,590
= 3,690
01 AtR222ld| 5,280 5,280 0
O3B 24)|& dE0HE R 5,280
= 1,590
o= 3,690
SZTEAHOYA A 2= 32,500 30,800 1,700
= 1,440
== 31,060
201 BRI 5,500 4,800 700
= 1,440
& 4,060
01 AtR22ld| 5,500 4,800 700
OSsSEHAAN AR U= 5,500
= 1,440
o= 4,060
308 XXX SOIA 27,000 26,000 1,000
08 JIEIREEY=2 27,000 26,000 1,000
OZEZAIA HRNSH 23
200,000& 13591 27,000
gaaze ¥ SHFURE 540,000 532,000 8,000
201 B9y 390,000 400,000 A 10,000
01 AtR22id] 50,000 50,000 0
ogaad &2 50,000
02 =32&H| 340,000 350,000 A 10,000
ogas e 340,000




SN BAS MY
PN

HH: & =2 PABNHIA PS
Sl EABI NI A HB (S5 & 2)
_ _ SIEN
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il i~ o Hnz2
206 THEH| 120,000 120,000 0
T 120,000 120,000 0
OBH HYEFUNR(AABY S) 120,000
405 THEFH S| 30,000 12,000 18,000
NI P EEEET 30,000 12,000 8,000
OSHFU(LTO0IH) D& S HASE
e 30,000
BANAY HHTE 207,000 305,000 98,000
201 L2yl 207,000 305,000 98,000
01 AFR2elt] 7,000 5,000 2,000
ONetA Bt 45 2 20| 7,000
02 ZZ2YH 200,000 300,000 100,000
ORAAALRINAE 29 SN2+ 200,000
OISZZHA(ZHZE)TLXH 200,000 200,000 0
306 =012 200,000 200,000 0
NEEER 200,000 200,000 0
OOISTEHA(FHIZE) TYXR 200,000
SRS ] 2,476,708 3,911,280 A1,434,572
= 124,655
o] 1,172,721
= 1,179,332
S EEEFON 1,582,707 2,934,791 ~1,352,084
| 1,036,473
= 546,234
CIEY] 19,500 19,500 0
| 9,750
= 9,750
10 JIAHN2ENS2+ 19,500 19,500 0
ONYAZE S=22 ARY 19,500
2123 18,046, 0002! 18,046
| 9,023
= 9,023
~201013 874,000% 874
o] 437




SA BASM
HH: A s BAYBAHA 2E
Crol: ot ol Moo ea (£r9): & 2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
= 437
-2AL=2E 514,000& 514
| 257
= 257
-IEEE 66,0003 66
| 33
= 33
301 ptsasg 10,800 10,800 0
Il 10,800
12 JIEt243 10,800 10,800 0
OlgEs=0laetSHS X AIZ S|
10,800,000& 10,800
| 10,800
308 AHXIHXMSOIH 1,552,407 2,904,491 A 1,352,084
Il 1,015,923
= 536,484
01 XXSHHBLAEES 1,552,407 2,904,491 A 1,352,084
ONLEES(ZEIFAL 58) K&
2,611,780,000& *31% 809,652
| 468,754
< 340,898
OB 2t =22 A K&
55,343,000 *75% 41,508
| 27,671
= 13,837
OgxR0t HEES K& 726,996,000 *75% 545,247
Il 363,498
= 181,749
OUHYRE SSHE SYXL
19,500,000 * 1«16 2= *50% 156,000
| 156,000
ZEEE AS R A 7,858 7,990 2132
= 5,358
& 2,500
201 ZEH2EH] 2,509 2,200 309
= 2,509
01 AtR2teld 2,509 2,200 309




od
’J
OF
oJ

e

n0

KIo

Bl w

A1
A

N440
N440

A4,990

A5,810

25,810

A 160

A 160

H3r
uiled!
pak=

2,850
2,850

2,940
2,940

58,190

54,290

54,290

400

400

=
o

s

<J

2,509

i

2,509
2,849
2,849
2,849

500

500
2,349

i

i

2,349

2,500
2,500

2,500
53,200

38,080

fir

iy

15,120
48,480

33,480

fir

A

15,000
48,480
1,200

1,200
30,000

i

i

15,000
15,000
4,080

H

4,080
13,200

i

i

13,200
240

120

i

120
240

iy

240

120

i

o
E
O-
R

)

or
ar

=Ll

01

202 O

w= o

no
<0
H
o)

oll

301

I

20
T

12 JIEt

o
il

o
oF
0H

K4
ol
3r

$0
&a
Kl

0H

RO

7

Rl

E
mﬂ

<0

ok
<

£l
50
&o
KJ

202 044

=L

01




\J
=

0 UA +HT
I

184 Dt
BAASHHIA 7E
& 2 0 2 2

8y
42 110

- - CR((3) - MR A

of .

=

o

el

22
J2

=1
R
121

< 120

308 XiXIEHHISOIH 4,480 3,500 980
= 4,480

X SHBAEES 4,480 3,500 980
OXYYZANIE DSHH X 1,600
= 1,600

OxggRel ASNDUE DFKOUIN (Al

) 2,880
=2 2,880

ey e 13,212 12,000 1,212
= 6,606
= 6,606

301 LerE AR 13,212 12,000 1,212
= 6,606
= 6,606

RSP 13,212 12,000 1,212
OM12 MHHex 22X 13,212
=2 6,606
< 6,606

MoI= & Aol 188, 151 182, 151 6,000
p 82,768
3 105,383

301 LerEAZ 96,000 90,000 6,000
p 48,000
= 48,000

NP TE 96,000 90,000 6,000
OOl =& R X ZH| 96,000
pJ 48,000
< 48,000

07 SI2t0IH 40,000 40,000 0

SETEPNICES 40,000 40,000 0
OOl =M DS - 22 (00 =02 E s 20,000
OMOI =MD - S (001 ZE X 21Y) 20,000

308 XX EHHSOIH 52,151 52,151 0
p 34,768
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A0 <
Klo
E
=)
5 g g g g g |8 5 g |8
. s o S = e e £ e
LH3r o ~
uiled
K=
> | — — — o o N~ ™ o (@] (@) o (@) o o o o o o o o o o o o @ — N~ o o o o
sl1e e 3 K S &§ 8|8 & 8|8 & &8 8 8 8|8 &K || R KR |HE = 5|88 s 8
Nl — N oo o~ m|o v ovu|lo v wul|lo o w0 ovu|m ol oo ©w ow|le = uvul|lolo © ™
— | — F & = | = — — — B © o|®
3
<
=
H = W = W ~ U ~ U ~ W ~ ~ ~ oo
i) i) <4 o
N~ N~ - [ee]
x x ™ *x
or ot [ P < —_
=] = o = i iof
X0 S S 30 © < -
= o oH S 5 ok .
Bl © ) . [ o) =
o © © = N S ~ Hr
31 2 3 = 3 U o
S AN = ol
=< :._|u_ = = qr ioJ
“_ul_l oF) ol Y] uJ m.Jl
= W = =< - K st ®
= moo o o L " il TR
= ky ol + A = & 0 & o
o | & s of 3 = e RO 0r
= = WM_V or < o Kd - 50 Kd o1 o Kd W =
T = o Hr . y 9 30 . y = L 5!
== RJ el R 0 @ i s 0= G Sl T~ =
o al ” 2 D w 1S o Al Slm wm W
| Rz ) iy SRR 2 Y A =4 MR dm
R | F|r = i = al 20 0o © al ] °la R OR
. © O O T ~ O ~ O B0 ~ O O
z |]]|5 0 S S 2 S S Ed S|
I+ 20 & i)




SA
X XH .
(=

chel:

2A

& =2 BAHAZ AN

BrOd O Aol (gt
=< 0o o O

22
J2

20
B
2

05 DI2IEr= 127,000 127,000
Ostulg el &= A =3l) 90,000
Ot S X HEAY X2 (sHH=XE3l) 21,000
OMASSHSEET & NETERE
X &sl) 16,000
308 XKXIEHSOIH 120, 128 120,376
= 61,111
= 59,017
01 KXCHZASE 120, 128 120,376
Ot 8l It M 1,484, 75021 x659! 96,509
= 48,255
= 48,254
OBHMI2H0| L2 Al & 25,711, 4502 *75% 19,284
= 12,856
= 6,428
Ostd s M2 4,335
FZREYY HE2Al 20,250 20,250
= 13,500
= 6,750
308 XXIEHSOIR 20,250 20,250
= 13,500
= 6,750
01 XXESHIAET2 20,250 20,250
OFQEEY AAAIL & JITH 7
15,000, 0002 *75% 11,250
= 7,500
< 3,750
OFQEAY D2AAANY 22X
12,000, 0002 *75% 9,000
= 6,000
< 3,000
HOIX & sy Asal 45,000 45,000
p] 30,000
= 15,000
308 AHXIEHXISOIH 7,500 7,500
p] 5,000




SN 2SN
HH: A s BAYBAHA 2E
Crol: ot ol Moo ea (£r9): & 2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
308 XAXIEHXMSOIA = 2,500
01 AXSHHIABEZ 7,500 7,500 0
ONBaBA XE AFTY X2
10,000, 000& *75% 7,500
J| 5,000
= 2,500
403 XXISHHSA20|H 37,500 37,500 0
J| 25,000
= 12,500
01 XXESHA=2EX 37,500 37,500 0
Osgags Ao FyTY
50,000, 000& *75% 37,500
J| 25,000
& 12,500
A RALA P 22,500 22,500 0
J| 15,000
= 7,500
308 AXISHHMSOIA 22,500 22,500 0
| 15,000
& 7,500
01 XXNHHBIAEXZ 22,500 22,500 0
OggdZs ofleze
7,500,000 *4JH 2~ *75% 22,500
J| 15,000
o= 7,500
gy gdrE 122 140,000 160,000 20,000
206 M= 140,000 160,000 A 20,000
01 &4l 140,000 160,000 A 20,000
OFYY Yotz Y 140,000
=2 S0l 74,242 72,442 1,800
307 QIZ2tol A 12,894 12,894 0
02 0I2tFAE X 12,894 12,894 0
OZsorz B3442 X 4,894
OZsP2I2Y L YN 1S 8,000
308 AXISHHMSOIHA 31,348 29,548 1,800
01 XXNHHBIAEZXZ 29,250 27,450 1,800




SA

BH: & 52 SAYBMHIA 1E
Erol: B o Mo YRe (Er9): &2
_ _ _ Muo
SH-EH . S2(30) - MRAY - BES Ofl & 04 Sl ko HRE2
OZS NS LA (0/SSTAL)
1,500& *50,0002! *30% 22,500
ORAS ZBT M 22
15,000& *1,50021 *30% 6,750
02 A+uR3 2,098 2,098 0
OBZHH +292 DT 2,008
402 PRIl 30,000 30,000 0
01 QX=X 30,000 30,000 0
OZses FHTY(RHBT £2XEII) 30,000
st e t2el Xd H22X 54,000 120,130 266,130
402 QIHGE01M 30,000 30,000 0
01 QUAR=2EX 30,000 30,000 0
OBtMI=TIE sl 272 (T2 Laser)
60,000, 00024 *50% 30,000
403 TXEMSAH201H 24,000 90, 130 266,130
01 XXSHHMIA2EX 24,000 90, 130 266,130
OstMlg e &E 29y X2
40,000, 000 *2H 2= *30% 24,000
el RBUSIA X2 5,700 5,700 0
308 XHXIEHHISOIF 5,700 5,700 0
01 NXHMBLEXS 5,700 5,700 0
OYRLY R WSIA X
1,000, 000 *3H 2 3,000
OHIE2IRHES SHUSEA XL
1,500, 000& *6H 2 *30% 2,700
AYs T3 16,309,572 15,028,559 1,281,013
= 1,240,403
Il 10,532,018
= 4,537,151
BAHAYUEEAAMY 2,025,579 2,848,697 A823,118
Il 1,539,864
= 485,715
101 el2H] 21,060 14,580 6,480
Il 10,529
& 10,531
10 JIZtH2ZAHSE+ 21,060 14,580 6,480
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[
0z

0¥ HL &
toh Y

Ol
T
To
T T

&l

(i

SIEMHIA =

YA H

03
Ol

SN HH G (EH) - MBAY - BYS Ak Soe s
308 AtXISH X SO0l& = 451,779
01 RXSHNBHNEXZ 1,957,709 2,805,924 A 848,215
OUEZEHAIS XA 3,011,860, 0002 x65% ,957,709
| ,505,930
& 451,779
adHEE2g 1,395,665 1,476,903 A81,238
Il 925,000
& 470,665
307 glzZtold 50,000 40,000 10,000
Il 25,000
= 25,000
02 SltHAExX 50,000 40,000 10,000
Osd3eld 284t 50,000
| 25,000
& 25,000
308 XNXIEHHSOIE 1,345,665 1,436,903 291,238
| 900,000
& 445,665
01 XXSHHBILAEES , 345,665 1,436,903 291,238
Osz¢Ead 29 , 345,665
I 900,000
= 445,665
KNDEStA L HEH N E AL 1,012,250 1,163,000 A 150,750
| 662,875
= 349,375
201 ZEH2EH| 3,000 48,000 245,000
| 1,500
& 1,500
01 AtR2teldl 3,000 48,000 245,000
OALMBAHAY M0 WS
1,500,000& *22! 3,000
J| 1,500
= 1,500
307 2IZ2tolM 68,750 90,000 221,250
| 34,375




SN BAS MY
HH: & =2 PABNHA PS
Sl ALSEA S (S5 & 2)
SA-EFH - SA(SAH) - MREAY - BES Off &F K %Eﬁiﬁ Hws2
307 eI2t0lH = 34,375
REIEIETRI=E S 68,750 90,000 ~21,250
OALSTALRAL 2 68,750
p] 34,375
= 34,375
308 XHXIEHHSOIH 940,500 1,025,000 84,500
| 627,000
= 313,500
01 KASHALBES 940,500 1,025,000 284,500
OX S5t HASENH L AL
1,254,000, 0002 %75% 940,500
ol 627,000
= 313,500
AR ETERE 233, 184 190,709 42,475
| 140,592
= 92,592
201 L2yl 45, 184 45, 184 0
Jl 22,592
= 22,502
EEEET] 45, 184 45, 184 0
OPFEHEAIZAl B20I2 A
1,412,002 x32! 45, 184
ol 22,502
= 22,502
307 eI2t0lH 140,000 100,000 40,000
| 70,000
= 70,000
02 PABNBE 140,000 100,000 40,000
OnEog=HANY 2Y 140,000
p] 70,000
= 70,000
308 XXEHSOIH 48,000 45,505 2,475
| 48,000
01 KASHILBES 48,000 45,525 2,475
ODEAY L BIAY 96,000, 00021 *50% 48,000
p] 48,000




SN 2SN
HH: A =2 BASRAHA 7S
cHol: AAZ YS! (et9l: &2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
ANE2AI=HIXIA 599,570 835,309 AN235,739
= 428,264
= 171,306
201 L3 700 700 0
= 420
= 280
01 AtR2teldl 700 700 0
OEgR=R o4 50,0003 +721x23| 700
= 420
== 280
308 XXEHMSO0IE 598,870 834,609 AN235,739
=2 427,844
= 171,026
01 RXSHNBNEXZ 598,870 834,609 A 235,739
OCEd=R=E X AMS 855,528,000 & *70% 598,870
= 427,844
& 171,026
AMATZIHRH 115,890 13,636 102,254
J| 77,260
& 38,630
308 XXIEHMSO0IE 115,890 13,636 102,254
J| 77,260
= 38,630
01 XXEHHBLEXZ 115,890 13,636 102,254
OUAHARMS) T2 2
154,520,000 x75% 115,890
| 77,260
& 38,630
S SUHALOI A Z A 2 &H0ot2tel 280,490 294,185 A 13,695
J| 160,280
& 120,210
308 XXIEHMSOIE 280,490 294,185 A 13,695
J| 160,280
& 120,210
01 XXEHHILEXZ 280,490 294,185 A 13,695




SA BASM
HH: A =2 BASRAHA 7S
cHol: AAZ YS! (S92l
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
Od&Ed HAIOI & AAH & S0t
400,700,000& *70% 280,490
| 160,280
= 120,210
OIS0t A& L0l &0 2l = H] 305,767 245,045 60,722
Il 174,724
= 131,043
308 AHXIS XSO0l & 305,767 245,045 60,722
| 174,724
= 131,043
01 AXHHBLEXS 305,767 245,045 60,722
OO0l=0t & &FH0l&0F 2=l XI&
436,810,000& *70% 305,767
Il 174,724
< 131,043
Qo I AR0F ESILAMA 1,800,000 709,875 1,090, 125
Il 1,200,000
= 600,000
308 AtXISH XSO0l & 1,800,000 709,875 1,090, 125
| 1,200,000
= 600,000
01 TAXHHBLEXS 1,800,000 709,875 1,090, 125
O R0t ESY LAY
2,400,000, 000& x75% 1,800,000
| 1,200,000
= 600,000
A MOtHE | & 32,157 4,315 27,842
Il 18,375
= 13,782
308 AHXISH X SO0l & 32,157 4,315 27,842
| 18,375
L= 13,782
01 AXHHBLEXS 32,157 4,315 27,842
Ol 0ot B2 HEHAM 45,938,000& +70% 32,157
| 18,375
< 13,782
A2 AMOLE L0 XI& 860,821 735,914 124,907




SN 2SN
HH: A =2 BASRAHA 7S
cHol: AAZ YS! (et9l: &2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
AU MOLER0I XA = 766,209
& 94,612
307 QI2toIA 9,324 6,000 3,324
= 9,324
02 QtFAE X 9,324 6,000 3,324
O&tE pldor &0/ s 9,324
= 9,324
308 XXEHMSOIHE 851,497 729,914 121,583
2 756,885
= 94,612
01 XXSHHBLAEXS 851,497 729,914 121,583
O&tE MA0ot =01 XI&AAS
946, 107,000 & *90% 851,497
= 756,885
= 94,612
LRI HEAS 2,248,277 1,653,912 594,365
| 1,484,483
& 763,794
308 XXEHMSOIHE 2,078,277 1,553,912 524,365
Il 1,484,483
= 593,794
01 XXSHHBILAEES 2,078,277 1,553,912 524,365
O ZJIFEAS 2,968,966, 000& *70% 2,078,277
Il 1,484,483
= 593,794
402 QI2EGE01M 170,000 100,000 70,000
01 QtR=8=x 170,000 100,000 70,000
OLAT Yl PY(ALR2IEE) 20,000
O8R-Xd FU(REA=XEE) 50,000
WOt 8k X2k 2| 168,670 105,780 52,890
| 105,780
= 52,890
308 XNXIHHSOIE 158,670 105,780 52,890
| 105,780
L= 52,890




SN B
X XH: X
(=R I

Sel: AASE2 ) (el o e
SAH-HH . () - MBEAY - BHA2 0 Ak o1 e HRS2
01 XXNHHBIAZXZ 158,670 105,780 52,890
Og olgatel At 211,560, 000& *75% 158,670
J| 105,780
o= 52,890
& X olzdl K& 1,527,157 1,099,244 427,913
J| 1,090,826
== 436,331
308 AXIEHXMSOIA 1,527,157 1,099,244 427,913
Dl 1,090,826
= 436,331
01 XXNHHBIAZXZ 1,527,157 1,099,244 427,913
O2Etxt o =2HI K& 2,181,652,000& *70% 1,527,157
J| 1,090,826
== 436,331
KNSAS SAHE A 41,200 41,200 0
J| 41,200
308 AHXISHHMSOIHA 41,200 41,200 0
J| 41,200
01 XXHMBIAEXZ 41,200 41,200 0
OXIAAEIEA THE A
41,200,000 *2JH A x50% 41,200
J| 41,200
SIAUXSE SEEEI K& 1,843,439 1,687,810 155,629
J| 1,536,199
& 307,240
308 AHXISHXMISOIA 1,843,439 1,687,810 155,629
J| 1,536, 199
= 307,240
01 XXNHMBIAEXZ 1,843,439 1,687,810 155,629
O3 AHUX L& 2SH XA
3,072,398, 000& *60% 1,843,439
J| 1,536, 199
= 307,240
OIXIE2& 601,640 522,190 79,450
J| 505,450
& 96, 190




SA BASM
HH: A =2 BASRAHA 7S
cHol: AAZ YS! (et9l: &2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
308 NXIHHSOIH 601,640 522,190 79,450
| 505,450
= 9,190
01 XNXEHHMILEXS 601,640 522,190 79,450
OLQIoX 2EEAY X
961,900,000 *60% 577,140
Il 480,950
< 96,190
Ok SAATIAMS 49,000, 000& *50% 24,500
| 24,500
XIotE 0 <21 236,211 222,750 13,461
| 196,842
& 39,369
308 XXEHMSO0IE 236,211 222,750 13,461
Il 196,842
= 39,369
01 XXSHBILAEXS 236,211 222,750 13,461
OXIOtSHRIIAIY XI& 393,684,000 *60% 236,211
Il 196,842
= 39,369
TLEHALE 228,080 217,250 10,830
| 228,080
308 NXIHHSOIH 208,000 86,000 122,000
| 208,000
01 XXSHHBILAEXS 208,000 86,000 122,000
OTYRAM 2% (S43D)
16,000, 000& *50% 8,000
Il 8,000
O 224 H2IHI 40,000, 000& *50% 20,000
I 20,000
O7ZEHdH X129 360,000,000 *50% 180,000
| 180,000
403 XXIEHSA=01H 20,080 131,250 A111,170
| 20,080
01 XXIEHX2EX 20,080 131,250 A111,170
ORLBAN MK 40,160, 0002 *50% 20,080




SN BAS MY
HH: & =2 PABNHA PS
Sl ALSEA S (5l &2
_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol Ak O Blusz
5] 20,080
3o DS A 50,000 109,800 59,800
o] 50,000
308 XHXIEHHSOIH 50,000 109,800 59,800
| 50,000
06 RSIIZNUE2ES 50,000 109,800 59,800
OSHDE(DSE SAKYIAY
100,000, 0002 *50% 50,000
p] 50,000
4ESELSCEFAY 60,000 53, 100 6,900
| 60,000
308 XXIEHSOIH 0,000 8,100 1,900
o] 10,000
01 KASHHANBES 10,000 8,100 1,900
O+52 245 AE2YY|
20,000, 00021 *50% 10,000
p] 10,000
403 TXIEHSKHEO0IT 50,000 45,000 5,000
| 50,000
01 XXM =R E 50,000 45,000 5,000
O+%2 248D 01& &Yl
100,000, 0002 *50% 50,000
p] 50,000
KIS ALSI QF A B AFEAL R 2 2 5 315,648 250,000 65,648
| 310,848
= 4,800
307 BI2t0IH 9,600 10,000 A400
| 4,800
= 4,800
00 LABNBE 9,600 10,000 400
OXIHAB ZAZAAIY 29 9,600
ol 4,800
= 4,800
308 XXIEHSOIH 306,048 240,000 66,048
| 306,048
01 KASLHANBES 306,048 240,000 66,048




SN 2ARIMI
M A 52 PABRNHIA 1F
Sl ALSEA S (e9: @8
_ _ _ Muo
- - HA(SA) - NRAE - BE=Z Ol Ak O =
SRECE N EE 612,096, 0002 *50% 306,048
I 306,048
HEE AEK 30,000 30,000 0
308 XHXISHHISOIH 30,000 30,000 0
S EFEREES] 30,000 30,000 0
OHABESAT 25,0002 %6, 00021 x20% 30,000
HSEBLOl Y2 AR 65,340 65,340 0
308 KHXISHHSOIH 65,340 65,340 0
N EFEREES] 65,340 65,340 0
OHNSEBLO $2F2  217,800,0002 *30% 65,340
A5 A X8 12,000 12,000 0
308 XXISHASOIH 12,000 12,000 0
e 12,000 12,000 0
OJNEZBAIY T
2,0002 *5,00001 *43] x30% 12,000
0|8 ALATN 90,000 90,000 0
308 XHXISHHISOIH 90,000 90,000 0
N EFEREES] 90,000 90,000 0
OS0E o4 AYAR XY
450,000, 00024 *20% 90,000
MY AR 53,856 43,860 9,99
308 XXISASOIH 53,856 43,860 9,99
AASHBAEES 53,856 43,860 9,996
OFZ M AT 179,520, 00021 30% 53,856
OF L2 T AN 51,671 51,671 0
=2 45,930
& 5,741
308 XHXISHHISOIH 51,671 51,671 0
= 45,930
& 5,741
S EFER =] 51,671 51,671 0
OY R0t HLATAL 51,671
2 45,930
= 5,741
IS ASSHRR 35,010 255,064 220,054
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SH BAS MY
HH: N 2 PAARNUA S
o9l AASE A ool J
SN EE - ER(EN) - NRAY - BaS sl e HlRE2
LI AHL AL SEX A Il 23,340
& 11,670
308 AHXIHMSOIH 35,010 255,064 N220,054
Il 23,340
= 11,670
01 XXIEHBAEX 35,010 255,064 N 220,054
OJHIl e A&
46,680,000 *75% 35,010
Il 23,340
= 11,670
332 MHIA 23t 10,808,528 8,545,420 2,263,108
= 3,794,500
Il 3,310,000
= 109,774
= 3,594,254
Agoz2d s JlsHst 5,800,000 2,000,000 3,800,000
Il 2,900,000
= 2,900,000
306 &=4H= 5,800,000 2,000,000 3,800,000
Il 2,900,000
= 2,900,000
01 =¢= 5,800,000 2,000,000 3,800,000
oo z& Ald - & 5,800,000
Il 2,900,000
= 2,900,000
NAHEEHAE =S & 3,682,500 4,900,000 A 1,217,500
= 3,682,500
403 XXM S A= 3,682,500 4,900,000 A 1,217,500
= 3,682,500
02 ZJI&solctHetr 3,682,500 4,900,000 A 1,217,500
O&ctogd &= 3,682,500
= 3,682,500
SHHIZBAAMY X2 480,000 480,000 0
Il 400,000
& 80,000
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SN 2ASIMD
HH: M s BAYASAHIA 2S
©9l: ZZOIEAHIA st (Er9): & 2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES 0 Ak o4 il b o bRz
308 XHXIEHH SOIH 280,000 280,000 0
| 200,000
= 80,000
01 RASHBAEES 280,000 280,000 0
OEEESEEEPNL 80,000, 0002 %50% 40,000
| 40,000
OBtOIAYSTHBE AL Al
320,000, 0002 *75% 240,000
| 160,000
= 80,000
403 RXSHSKZO0IH 200,000 200,000 0
| 200,000
01 RASHAEEE 200,000 200,000 0
OBfCISRAY ST RS At
300,000,000 %2/3 200,000
| 200,000
NYOIES IT2AMY 200,000 200,000 0
= 105,000
= 95,000
306 &3 200,000 200,000 0
= 105,000
= 95,000
01 &3 200,000 200,000 0
OXgolRY BRLHAANY 200,000
= 105,000
= 95,000
Ngol2 LB AEAY 400,000 400,000 0
306 &3 400,000 400,000 0
01 &3 400,000 400,000 0
OQBTE, QAZ, HYMH L2ASAY 400,000
AATHHET S X 60,000 20,000 60,000
308 XHXIEHH SOIH 60,000 120,000 60,000
01 RASHINEES 60,000 120,000 60,000
OMIt AHEX S 228 X2
200,000, 000 *30% 60,000
EEEVNICIENEE S 10,000 8,400 1,600
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219N
AE .2
oot o2 Crol Rl )
S FB SR (E) - NRAY - Be S Lo e RS2
0 &40
308 X 600,000 550,000 50,000
Il 600,000
01 XX 2X3 600,000 550,000 50,000
os=22 ALY T2 600,000
J| 600,000
IIAFS=A ANEES 4,000 4,000 0
=2 2,000
= 2,000
301 et 4,000 4,000 0
= 2,000
= 2,000
01 A3 =03 4,000 4,000 0
Oltsx =i 22 4,000
2 2,000
S 2,000
leszozl2Xe(s5) 272,000 320,000 A48,000
= 272,000
308 A+X 272,000 320,000 48,000
= 272,000
01 XX = 272,000 320,000 A48,000
Os S22z Adl X3 272,000
= 272,000
X & SESMXu=sH X 89,000 107,000 A 18,000
Il 19,500
= 69,500
307 812+0 89,000 107,000 A 18,000
p) 19,500
= 69,500
02 &l 50,000 67,000 A 17,000
OAIZEOH MNATHE WS 50,000
05 gzt = 39,000 40,000 1,000
Oxx =F=PSPNITES 39,000
Il 19,500
= 19,500
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